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. ECONOMY

(Q) The term Regulatory Forbearance, sometimes seen in the news, is often associated with
a) Initial Public Offerings
b) Startups

C) Ease of doing business
d) Restructured loans
Solution: d.

TH: The Reserve Bank of India has refused to provide any leeway to stressed borrowers or give in to the
demand of higherdividend by the government, which issued three letters to the central bank in the last one
month for consultation under Section 7 of the RBI Act. Section 7 of the RBI Act empowers the central
government to issue directions to the RBI in public interest. Tik section has, however, never been invoked by
the government so far. Section 7 has two parts consultation and then issuing a direction to the RBI for
taking some action in public interest.

According to central banking sources, one letter pertained to exnption for power companies from new
stressed asset norms, while another one was to dilute capital threshold norms of the prompt corrective action
framework. Yet another one communication was pertaining to more capital to the government from the
reserves d the central bank.

(Q) The Generalised System of Preferences, the largest and oldest U.S. trade preference
programme, is designed to promote economic development by allowing duty -free entry for
thousands of products from designated beneficiary countries.  The country recently revoked duty -
free concessions on import of at least 50 Indian products, mostly from the

a) Refined petroleum and pharmaceutical sector

b) Pharmaceutical sector

C) Agriculture and handloom sector

d) Renewable energy and agricul ture sector
Solution: c.

TH: The U.S. on Thursday revoked dutiyee concessions on imporbf at least 50 Indian products, mostly from
EATAITTI AT A ACOEAOI OOOA OAAOI OOh OA A&l AA ddateCiss@E /
with New Delhi. The federal register issued a notification, listing out 90 products which were so farlgject to
duty-free provisions under the Generalized System of Preferences (GSP). U.S. President Donald Trump issued
a presidential proclamation on Tuesday, leading to the removal of these products from the privilege beginning
November 1.
As of November IDEAOA DOT AOAOO Ox EIl I|-rek preferehcesiAdér thll GSPIpagiathmeEl C
but may continue to be imported subject to regular Most Favored Nation dwp A OAOh 6 AT | EAFAEA
Representative told PTI. A review of the products indicas that the presidential proclamation is not country
specific, but product specific. With India being the largest beneficiary of the GSP, it has been hit the most by
the latest decision of the Trump administration.

>
N
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(Q) Consider the following statements in the context of Capital Adequacy Ratio, a term sometimes
seen in the news:

1. Basel norms are applicable to NBFCs in India.
2. The CAR norms for Indian banks is 9 per cent.
3. Indian banks with foreign presence must maintain a CAR of 8 per cent.

Which of the statements given above is/are correct?
a) 1 and 2 only
b) 2 and 3 only
C) 1 and 3 only
d) 1,2and 3

Solution: a.
The RBI guidelines regarding the CAR norms in India:
o0 Basell norm of the CAR was to be achieved by thaliam banks by

0 The CAR norm was raised to 9 percent with effect from 2000 (Narasimham Committebad
recommended to raise it to 10 per cent).

o0 Foreign banks as well as Indian banks with foreign presence as well as other ScleetiGbmmercial
Banks to follow Baselll norms, e.f. 2008/2009. The Basdl norm for the CAR is 12 per cent.

Banking in India, Indian Economy by Ramesh Singh;  In the news:TH;

(Q) Consider the following statements about the Central Board of RBI:

1. Its non -official directors constitute the majority.
2. No member on the board is a government official.
3. Members are appointed for a period of four years.

Which of the statements given above is/are correct?
a) 1 only
b) 1 and 3 only
C) 3 only
d) 1,2and 3

Solution: b.
4EA 2A0A00A " AT EB8O A EE58H0D oAdddstors Th® Acard & Appdintéd by the
Government of India in keeping with the Reserve Bank of India Act.

1 Appointed/nominated for a period of four years
9 Constitution:
Official Directors
o Full-time : Governor and not more than four Deputy Govenrs
Non-Official Directors
o0 Nominated by Government: ten Directors from various fields and two government Official
0 Others: four Directorsz one each from four local boards
 Functions:' AT AOAT OOPAOET OAT AAT AA AT A AEOAAOQEIT 1 &
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In the news: the tussle between the government and RBI, plus Section 7 of RBI Act.

(Q) Consider the following statements in the context of the demonetisation exercise, undertaken
two years ago:

1. Currency in circulation today is more than what it was just before demonetisation.
2. The value of mobile banking transactions today have nearly doubled in comparison to the
period just before demonetisation.

Which of the statements given above is/are correc t ?
a) 1 only
b) 2 only
C) Both 1 and 2
d) Neither 1 nor 2

Solution: c.

9 Currency in circulation increased to 19.6 lakh crore as on Oct. 26, 2018, fronil7.9 lakh crore on Nov.4,
2016.

1 Cash withdrawals from ATMs in Oct. 2016 were2.54 lakh crore while the number for August 2018 was
2.75 lakh crorez a growth of 8%.

1 ATM withdrawals had crashed to 1.06 lakh crore in December 2016.

1 Mobile banking transactions rose to 2.06 lakh crore in Aug. 2018 from 1.13 lakh crore in October 2016.
TH;

(Q) Consider the following statements:

1. The six-member Monetary Policy Committee (MPC) of the RBI was constituted by the
Central Government for the first time in 2016.

2. The implementation of a flexible inflation targeting framework by the MPC has a statutory
basis.

Which of the statements given above is/are correct ?
a) 1 only
b) 2 only
C) Both 1 and 2
d) Neither 1 nor 2

Sdution: c.

PIB: As per the provisions of the RBI Act, out of the six Members of Monetary Policy Committee, three Members
will be from the RBI and the other three Members of MPC willedbappointed by the Central Government. In
exercise of the powers conferred by section 45ZB of the Reserve Bank of India Act, 1934, the Central
Government accordingly constituted, through a Gazette Notification dated 29th Sept 2016, the Monetary
Policy Comnittee of RBI.

TH (2015): The Centre and the Reserve Bank of India sighed an agreement last month under which the central
bank will prioritise controlling price rise above the other objectives of the monetary policy interest rates
and the foreign exchange rate.. IMay 2016, the Reserve Bank of India (RBI) Act, 193was amended to
provide a statutory basis for the implementation of the flexible inflation targeting framework.

In the news:TH; Livemint;
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(Q) Consider the following statements:

1. Treasury Bills (TBs) are used by the Central Government to fulfil its short -term liquidity
requirement up to the period of three years.

2. TBs function as requirements of the Cash Reserve Ratio and Statutory Liquidity Ratio of
the banking institutions.

Which of the statements given above is/are correct?
a) 1 only
b) 2 only
C) Both 1 and 2
d) Neither 1 nor 2

Solution: b.
CHlIndian Financial Market, Indian Economy by Ramesh Singh:

Treasury Bills are used by the Central Government to fulfil itsshort -term liquidity requirement  upto the
period of 364 days. At present, three types of TBsra issuedz the 91-day TBs,182-day TBs and the364-
day TBs The TBs other than providing shorterm cushion to the government, also function as sheterm
investment avenues for the banks and financial institutions, besides functioning asjuirements of the
CRR and SLR of the banking institutions.

In the news (TH): The National Stock Exchange (NSE) has launched an @ppl webAAOAA D1 AO/EI
cCi")ysoéh & O OAOAEI EIT OAOGOI OO0 OiI AOU ci GAOT i1 AT O |OA

treasury bills (T-Bills) of 91 days, 182 days and 364 days and various government bonds from one year to
almost 40 years said a statement by the exchange. The retail investors would be able to make payment
directly from their bank accounts using Unified Payments Interface (UPI) and Internet banking, the statement
added.
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II. GEOGRAPHY& ENVIRONMENT

(Q) Recently in the news, Cerrado is where soybeans is being grown on commercial scale. Cerrado

is
a) A deciduous forest
b) A tropical rainforest
C) A temperate grassland

d) A parkland or bush -veld

Solution: d.
In the news BBQ): The Cerrad)OAOAT T A EO AT AOAA ET " OAUEI OEA OAI
most biodiverse places in worldz 40% of animal and plant species there can be found nowhere else on the
planet. A report by the WWF says it is being burned and cleared at spe®dth the deforestation largely driven
by demand for land to grow soybeans. These are mainly exported to feed livestock, such as pigs and chickens,
for consumption around the world. The Cerrado is one of the most endangered ecosystems on the planet.
GCLé1 ¢d 4EA OUDA 1 £ OACAOAOGEIT ET 3A0ATT ABADAGEI
OEAT OOOI PEAAI COAOOI Al Ao 8

(Q) As an ecological phenomenon, a trophic cascade is definitely caused when

a) Secondary succession immediately follows primary succession.
b) Top predators are removed from an ecosystem.
C) Human demand on resources exceeds what earth can regenerate each year.
d) Energy flowing through the food chain is a constant.
Solution: b.

Britannica: Trophic cascade, an ecological phenomenon triggered by the addition or removal of top predators
and involving reciprocal changes in the relative populations of predator and prey through a food chain, which
often results in dramatic changes in ecosystem structure and nutrient cycling. In a thréevel food chain, an
increase (or decrease) in carnivores causes a decrease (or increase) in herbivores and an increase (or
decrease) in primary producers such as plas and phytoplankton.

TH;

(Q) Which among the following Critically Endangered species can you find in the Arctic region as
well as in some parts of India ?

a) Spoonbill sandpiper
b) Pink -headed duck

C) Himalayan quail
d) Jerdonds courser
Solution: a.

BBC The Arctic is no longer the safe haven it once was for riggy birds, a new scientific report warns. Having
nests raided by predators is a bigger threat for birds flocking to breed than in the past, it shows. This raises
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the risk of extinction for birds on Arctic shores, say researchers. For critically endangersgecies such as the |
OPT T TAEI 1T OAT APEPAOh OEEO AT Ol A AA OOEA 1 AO0O 1 A€
IUCN MOEF booklet

(Q) The recently instituted Global Cooling Prize, led by the Rocky Mountain Institute, is a
competition to develop

a) Cheap and efficient techno logies that can capture CO directly from the air.

b) Affordable cooling solutions that can provide access to cooling to people around the world
without warming the planet.

c) Breakthrough technologies that will convert CO emissions from power plants and indust rial
facilities into valuable products like building materials, alternative fuels.

d) None of the above

Solution: b.
THg " U ¢me¢ch )T AEA EO A@DAApAA Ol EAOA A & OOOE |i
AOT I OEEO AT OI A AA Ei T AT GAh AAAT OAET ¢ O A OADPI O

Oy

of Science and Technology andé Ministry of Power, on Monday announced a partnership with the Rocky
Mountain Institute (RMI), a U.Sbased institute, and Conservation X Labs, a technology solutions company, o
institute a Global Cooling Prize to motivate research laboratories acroske world to develop highly efficient
cooling technologies.

A technology solution that could help to reduce the impact by orfifth and ensure that air conditioning units
use 75% less electricity would be needed, says Solving the Global Cooling Challengepart written by the
Rocky Mountain Institute. A technology solution would not only significantly reduce the burden on electricity
grids but also save 109 trillion ($ 1.5 trillion).

(Q) With reference to the 2016 amendment to the Montreal Protocol at K igali, Rwanda, consider
the following statements:

1. Developed countries will start to phase down Hydrofluorocarbons (HFCs) by 2020.
2. Some developing countries will freeze HFCs consumption levels in 2025.
3. Some countries such as India will begin reduction of it s usage of HFCs only in 2030.

Which of the statements given above is/are correct ?
a) 1 only
b) 2 and 3 only
C) 1 and 3 only

d) None of the above
Solution: d.
THg )T ¢mpoeh )T AEA xAO A OECI AOT OU O1 A AiiPAAQ I

greenhouse gas, called hydrofluorocarbons (HFCs), by 2045 and move to prevent a potential 0.5 C rise|in
global temperature by 2050. HFCs are a family of gases that are largely used in refrigerants at home and in car
air-conditioners. However, they substarially worsen global warming. India, China, the United States ang
Europe have committed themselves to reducing the use of HFC by 85% by 2045.

1 Under the compromise stitched up, developed countries will start to phase down the climate
impacting family of refrigerant gases called HFCs by 2019.

www.insightsias.com 7 www.insightsonindia.com
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1 Most developing countries, including China, will subsequently follow with a freeze of HFC
consumption levels in 2024 and subsequently reduce the usage.

1 Some countries, including India, bargained to get the peak consumgmi year pegged to 2028, gaining
an four extra years.

1 India was not able to bargain for the 2030 as the freeze year and had to settle for 2028. Th

consequence, in terms of costs to the Indian industry and economy, would be much higher than what

the two yea difference suggests.

\*2J

T 0"U ¢nm¢yh T ATU T &£ OEA PAOGAT OO 11 AT 601 U Al OAOI
year. The two years in between would have given us the chance to figure out cheaper new
technological options rather than their A OAT OAA OAAET T 1T CEAO OEAO x|i

BS TH;

(Q) Consider the following statements about the the Intergovernmental Science  -Policy Platform
on Biodiversity and Ecosystem Services (IPBES):

1. It was established in 2017.

2. All states members of the UN are eligible for IPBES membership.

3. IPBES does for biodiversity what the Intergovernmental Panel on Climate Change does for
climate change.

Which of the statements given above is/are correct ?
a) 1 and 2 only
b) 2 and 3 only
C) 3 only
d) 1,2and 3

Solution: b.
What is IPBES?
1 The IPBES is an independent intergovernmental body, established by member States in 2012.

I It provides policymakers with objectivescientific assessments about the state of knowledge regarding

OEA Pl AT AO6O AETI AEOAOOEOUh AAT OUOOAT O AT A OE
methods to protect and sustainably use these vital natural assets.

1 Its mission is to strergthen knowledge foundations for better policy through science, for the
conservation and sustainable use of biodiversity, lonterm human well-being and sustainable
development.

1 To some extent IPBES does for biodiversity what the IPCC does for climate cleang

In the news:TH;

(Q) Consider the following statements with reference to the geography of California, which is
recently withessed some of the deadliest fires ever to have hit the state:

1. The planetary winds in this region are onshore South  -Westerlies.
2. California is a coastal state which has a border with Mexico.

Which of the statements given above is/are correct ?
a) 1 only b) 2 only
C) Both 1 and 2 d) Neither 1 nor 2

A
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Solution: b.
The planetary winds in this region are offshore Trade Winds.

Improvisation: California fires; Chpwh " # ,ATT1C80 #AOOEEEAAOA 0

Q) A

completes its annual cycle o breeding, moulting, staging and non -breeding. Consider the following
statements in this context:

1.
2.

3.

Which of the statements given above is/a re correct ?

a) 1 and 2 only

b) 2 and 3 only

C) 3 only

d) 1,2and 3
Solution: b.

www.insightsias.com 9 www.insightsonindia.com
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Tol: The Central Asian Flyway encompasses overlapping migration routes over 30 countries for differenL

water-birds linking their northernmost breeding ground in Siberia to the southernmost norbreeding

grounds in west and south Asia, the Maldives and the B@E ) T AEAT / AAAT OAOOEQI

role in the flyway as it provides critical stopover sites to over 90% of the bird species known to use this
i ECOAOI OU Oi 60Aho OAUO OEA )T AEAGO . AOET 1T AbndthdrO
Habitats.
According to the NAP, at least 370 species of migratory birds from three flyways (CAF, East Asian Australasi

Flyway covering parts of eastern India and Asian East African Flyway covering parts of western India) arg

reported to visit Indian sub-continent during their annual cycle.

A HOST TO 370 AVIAN VARITIES

370 310 leaess

species of migratory  species of them  inhabiting
birds visit Indian use wetlands as  dispersed
sub-continent habitats terrestrial areas

- o S| L=
S x

There are nine Northernmost grounds -
i Russia (Siberia)

flyways in the i

(A flyway is a

geographical region

within which a - .‘

single or a group of CA:vzr:f:prgg?:;es

migratory species veria

completes its annual migration rou?e

cycle - breeding, over 30 countries

moulting, staging Southernmost grounds -

and non-breeding)  goyth Asia and the Maldives

Improvisation: TH;

(Q) National Highway 4, numbered earlier as NH 223, recently in the news, is about 331 kilometrs
in length. It passes through

a) Andaman Islands
b) Walong in Arunachal Pradesh
C) Dera Baba Nanak in Punjab

d) Moreh in Manipur

Solution: a.

1 NH 4 (Old NH 223) is the Andaman Trunk Road which passes through the Jarawa reserve.
TH; THI;
NHAI PDF} NHAI PDF2

O;

ET

an
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(Q) Thunderstorm, Lesknow, and Birbil  are all terms sometimes seen in the news. These are
associated with/related to

a) Atmosphere and climate research
b) International military exercises
C) Combating malaria
d) Wildlife crime control
Solution: d.

PIB: United Nation Environment has awarded Wildlife Crime Control Bureau (WCCB), Ministry o
Environment, Forest and Climate Change, Government of India with Asia Environment Enforcern@mwards,
2018 for excellent work done by the Bureau in combating transboundary environmental crime.

1 WCCB has been conferred this award in Innovation category. WCCB has adopted innovative enforcement
techniques that have dramatically increased enforcemendf transboundary environmental crimes in
India. Notably it has developed an online Wildlife Crime Database Management System to get real time

data in order to help analyze trends in crime and devise effective measures to prevent and detect wildlife
crimes across India.

1 This system has been successfully used to analyse trends, helping put in preventive measures as well as
for successfully carrying out operations such as Operation SAVE KURMA, THUNDERBIRD, WILDNET,
LESKNOW, BIRBIL, THUNDERSTORM, LESKNIGAMNng with other enforcement agencies.

(Q) The phenomenon of beaching, sometimes in the news, is associated with which among the
following groups ?

a) Whales

b) Crabs

C) Octopuses

d) Turtles
Solution: a.

BBC A group of up to 145 pilot whales have died after becoming stranded on a beach on Stewart Island jin
.Ax  AAT AT A8 )080 110 #AOITU ETIixl xEU xEAIAO 10
navigational errors, falling tides or being chased by a predator.

(Q) Consider the following statements:

1. Thorium is more abundant in the earthds <crulst
2. All the thorium that is mined can be used in a reactor, in comparison to less than 1% of
natural uranium that may be used.

3. While thorium is also |l ocated in I ndiads East
the western coastal states.
4. KAMINI is the only reactor in the world operating with Uranium -233 fuel.

Which of the statements given above is/are correct ?
a) 1,2and 4 b) 1 and 2 only
C) 3 and 4 only d) 2,3and 4

www.insightsias.com 11 www.insightsonindia.com
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Solution a.
Thorium has several advantages over Uranium as a nuclear power source.
T 4ET1 OEOI EO OEOAA OEIi AO i1 OA AAOT AAT O ET OEA %A

1 many Thorium depositscontain other mineral resources of value (rare earths elements in particular).

91 All the Thorium that is mined can be used in a reactor, in comparison to less than 1% of natura
Uranium that may be used.

1 Th-232 possesses a 14 bhillion year halife, rendering it safer than Uranium and Plutonium.

Significant Thorium deposits exist in theUnited States, Brazil, India, and Australia ; the total resource of
monazite in India is 12.5 million tonne, which contains approximately 1 million tonne thorium metal.

Imported fuel (natural uranium) contains fissile isotope (Uranium235), which undergoes nuclear fission in a
reactor to produce energy. It is not possible to build a nuclear reactor using thorium (Thoriuf32) alone due
to its physics characteristics. Thorium hago be converted to Uranium233 in a reactor before it can be used
as fuel.

The Kalpakkam Mini Reactor (KAMINI), which is in operation at Indira Gandhi Centre for Atomic Research
(IGCAR) at Kalpakkam, is the only reactor in the world operating with Uraniun233 fuel.

For statement 3 explanation, refer solution to next question.
DAE Stanford; Improvisation: BBG

(Q) The largest reserves of thorium in India is located in

a) Gujarat

b) Kerala

C) Andhra Pradesh

d) Odisha
Solution: c.

Thorium-bearing mineral monazite occurs in association with other Beach Sand Minerals (BSM) such as
ilmenite, rutile, zircon, garnet and sillimanite in unconsolidated form along the coastal and inland placer sand
of the country. Atomic Minerals Directoraé for Exploration and Research (AMD), a constituent unit of
Department of Atomic Energy (DAE) has identified and evaluated 128 BSM deposits in the coastal beach placer
sands in parts of Kerala, Tamil Nadu, Odisha, Andhra Pradesh, Maharashtra and Gujardtiarthe inland

riverine placer sands in parts of Jharkhand and West Bengal. Statése details of in situ monazite resource
established by AMD (as on June, 2018):

\"2)

State No. of deposits (MFi{IﬁsgL::)?wene)

QOdisha 10 3.06
Andhra Pradesh 26 3.69
Tamil Nadu 51 2.46
Kerala 35 1.84
West Bengal 1 1.20
Jharkhand 1 0.21
Maharashtra 3 0.004
Guijarat 1 0.003

Total 128 12.467

DAE Improvisation: BBG

www.insightsias.com 12 www.insightsonindia.com
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(Q) Consider the following statements about flammable ice:

1. These are methane molecules that are encapsulated by water molec ules.

2. They can only be found in sediments under the ocean floor.

3. Countries such as India, Japan and South Korea @& that are largely oil -import dependent &
are among the leading countries in research and exploration of it.

Which of the statemetns given above is/are correct ?

a) 1 only
b) land?2
C) 2and 3
d) land3
Solution: d.
1 Flammable Ice describes a frozen mixture of water How methane hydrates are formed
and gas. It looks like ice crystals but if you zoom in Arctic methane hydrate
to a molecular level, you see that the methane Doow owe Knitor J& Drilg ia
molecules are caged in by the water molecules. Drill ship g  permafrost = :
g y F é =

Officially known as methane clathrates or hydrates, el

they are formed atvery low temperatures and By Son o
under high pressure. They can be found in

sediments under the ocean floor as well as / / ge'mmr:;‘éd"‘g;“a"e
underneath permafrost on land. One cubic metre of gﬂe!hane :ey'arate Fart:(l’ts p«'wlde bacterial action in

- leposits below conduits for shallow sediments
the compound releases about 160 cubic metres of ZZEEEEE methene $86ps

gas, making it a highly energyintensive fuel.
Slow seepage of thermogenic methane from below

As a country lacking any natural energy resources.
Department of Energy

Japan has been a pioneer in the field. Other IeadinéjS
countries are India or South Koregx ET A1 OT AT 1860 EAOA OEAEO 1 xI1
are also active in the field, they have beefocussing on hydrates under permafrost in the far north of
Alaska and Canada.

From 2017:BBC Improvisation: BBG
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III. GOVERNMENT SCHEMES AND
PROGRAMMES

@@QIn the Indian context, the terms 061 R806, 01l R3/660
with
a) Sustainable agriculture
b) Food security
C) Nutrition security
d) a and b only
Solution: b.

IE: In the early 1960s, India imported 18,000 tonnes of the sendwarf high yielding (HY) wheat variety,
Lerma Rojo and Sonora 64. Developed by Borlaug and his team at the International Maize and Wheat
Improvement Center (CIMMYT), Mexico, these wheat varieties proved to be the harbinger of the Green
Revolution. Indian scientists adapted the mported germplasm to create indigenous varieties: Kalyan
developed by D S Athwal and Sona created by M S Swaminathan. Around the same time, the HY miracle fice,
IR82 developed by Peter Jennings and Henry M Beachell of the International Rice Research tunsti(IRRI)

» was imported. About a decade later, an improved variety, IR36 AAOGAT i PAA AU )22) 60
i AAA EOO DPOAOGAT AA AT O EI OEA AT O1 OOUBO EEAI AOSB
Research Project (AICRP) produced Padnaad Jaya, the first indigenous HY rice varieties. These became the
AAT OOAPEAAA T &£ )1 AEA8O OEAA OAOI 1 OOEIT 8
@Q@QConsider the following statements about I ndiabo
1. The nodal agency to coordinate, guide and oversee implementation of IPRs is  the Human
Resource Development Ministry.
2. It commits India to reconciling its patent laws in accordance with such current
international benchmarks that enable it to participate in several on -going multilateral
trade negotiations.
3. The policy will be reviewe d every five years.
Which of the statements given above is/are correct ?
a) 1 and 2 only
b) 1 and 3 only
C) 3 only
d) 1,2and 3
Solution: c.
TH, Insights (From 2016): The nodal agency to coordinate, guide and oversee implementation of IPRs is the
$ADPAOCOI AT O T &£ )1 AOOOOEAT o011 EAU AT A 00OTITOEIT jg$)o0

has indicated that there is no urgent need to change patent lawbat are already fully World Trade

Organization-compliant. So India has resisted pressure from the US and other Western countries to amend its

patent laws.

In the news:TH;
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(Q) PESO, or the Petroleum Explosives and Safety Organisation, functions under the aegis of
a) Ministry of Petroleum and Natural Gas

b) Ministry of Mines

C) Ministry of Chemicals and Fertilisers
d) Ministry of Commerce and Industr y
Solution: d.

DIPP. As a statutory authority, PESO is entrusted with the responsibilities under the
o0 Explosives Act, 1884;
o Petroleum Act, 1934,
o Inflammable Substances Act, 1952, and
o Environment (Protection Act), 1986.

http://peso.gov.in/index.aspx; In the news due to firecrackersrelated orders from the Supreme Court.

(Q) The e-Incremental Learning Approach is an online system where programme functionaries

will become more effective by learning to plan and execute each task correctly and consistently
through methodical and ongoing capacity building. Which one of the followi ng programmes is e -
ILA a component of ?

a) Universal Immunisation Programme

b) Deen Dayal Upadhyaya Grameen Kaushalya Yojana
C) POSHAN Abhiyaan

d) SWADHAR Greh

Solution: c.
It is a component of POSHAN Abhiyaan.
PIB1; In the news:PIB2;

(Q) Consider the following statements about Invest India:

1. I't i s | ndi a dstmentpramotmmand facilitationeagency.
2. Itis a non -profit venture under the Ministry of Finance.
3. It focuses on promoting investing in sustainable development.

Which of the statements given above is/are correct ?
a) 1 and 2 only
b) 1 and 3 only
C) 2 and 3 only
d) 1,2and 3

Solution: c.

Investindia: It is a nonprofit venture under the Department of Industrial Policy and Promotion, Ministry of
Commerce and Industry.

www.insightsias.com 15 www.insightsonindia.com



http://www.insightsias.com/
http://www.insightsonindia.com/
http://dipp.nic.in/programmes-and-schemes/others/petroleum-explosives-safety-organisation-peso
http://peso.gov.in/index.aspx
http://www.pib.nic.in/Pressreleaseshare.aspx?PRID=1525134
http://pib.nic.in/newsite/PrintRelease.aspx?relid=184753
https://www.investindia.gov.in/about-us

It was recently awaded the UN Award for excellence in promoting investments in sustainable development.
Invest India also partners with substantial investment promotion agencies and multilateral organizations.
Invest India also actively works with several Indian states to Wld capacity as well as bring in global best
practices in investment targeting, promotion and facilitation areas.

Vikaspedia National Current Affairs October 2018

(Q) Consider the following statements about the Pradhan Mantri Matru Vandana Yojana
(PMMVY), is a Maternity Benefit Programme:

1. It is being implemented in all districts where more than 50 per cent of the population is
recognised as being multidimensionally  deprived through the Socio Economic Caste
Census.

2. A conditional cash incentive of 5,000 rupees in three instalments is provided to a pregnant
woman.

3. In case of miscarriage or still birth, the beneficiary would be eligible to claim only the
remaining instal ments in the event of any future pregnancy.

Which of the statements given above is/are correct ?
a) 1 and 2 only
b) 2 and 3 only
C) 1 and 3 only
d) 1,2and 3

Solution: b.

Vikaspedia PMMVY is being implemented in all districts of the country in accordance with provisions of the
NFSA, 2013. Statements 2 and 3 are correct.

A beneficiary is eligible to receive benefits under the schenanly once. In case of miscarriage/still birth, the
beneficiary would be eligible to claim the remaining instalment(s) in event of any future pregnancylhus,
after receiving the 1st instalment, if the beneficiary has a miscarriage, she would only be eligible for receiving
2nd and 3rd instalment in event of future pregnancy subject to fulfilment of eligibility criterion and
conditionalities of the scheme

TH;
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V. SCIENCE AND TECHNOLOGY

QRecently in the news, the NASA®G6s Orion is

a) A human spacecraft designed for deep space exploration.
b) A dwarf planet explorer.
C) A composition identifier instrument aboard the Parker Solar Probe.
d) None of the above.
Solution: a.

NASA For the first time in a generation, NASA is building uman spacecraffor deep-space missions that
will usher in a new era of space exploration. A series of increasingly challenging missions awaits, and this new
OPAAAAOAAED xEI1l OAEA 00 dAiogdtheOicirdyEohthe Mook and MarCT T A | A/
In the news:BBGC

Q6Seven minutes of terrordd, a phrase only someti
a) Martian landers
b) The Inte rnational Space Station
C) Astronauts returning to earth
d) None of the above
Solution: a.

BBC NASA has released a video describing the perilous journey ItsSight probewill make to the surface of
Mars later this month. Fronted by Rob Manning, the chief engineer at! 3slJ& Propulsion Laboratory, the
AEI I AARAOAOEAAO OEA OA OéninOdescéntaAdfaAddgh A @ E%D, £ 0) OADO A
EAT B A O Adgdhcy predbiced a similar video for its Curiosity Mars lander in 2012 called The 7 Minutes g
Terror.

=3

QRecently in the news, O6Oumuamuad is al/ an
a) Interstellar asteroid
b) Break -away rectangular Antarctic Ice shelf
C) Goldilocks planetary system
d) None of the above
Solution: a.

TH: Oumuamua is the first known interstellar object to enter our solar sstem. To read more about this object
discovered in 2017, clickHERE

(Q) Consider the following statements:

1. The main aim of the LIGO Scientific Collaboration is to detect gravitational waves.
2. Gravitational waves are caused only due to the merger or collision of large structures in
space such as black holes and neutron stars.
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Which of the statements given above is/are correct ?
a) 1 only
b) 2 only
C) Both 1 and 2
d) Neither 1 nor 2

Solution: a.
Watch this YouTubeVideo to understand why statement 2 is incorrect.

The LIGO Scientific Collaboration (LSGg a group of scientists focused on the direct detection of gravitational
waves, using them to explore the fundamental physics of gravity, and developing the emerging field ¢
gravitational wave science as a tool of astronomical discovery. Several institns/universities from India are
participants in the LSC.

In the news:TH;

(Q)  Consider the  following Sky 5
statements: the llmit

1. The GSLV MKII is a two-stage The Satellite

heavy lift launch vehicle

= GSAT-29 is
developed by ISRO. _ a 3,500 kg
2. The GSLV MKIII has four solid communication
strap -ons, a core liquid booster satellite for
. high quality
and a cryogenic upper stage. e
3. The GSLV Mkl will launch services

GSAT-29, a communication oo

satellite  for  high -quality ;Atev;/;?nt;::gat

internet services. cost of 360
. . crore with a
Whlch of the statements given above lifespan of 10
is/are correct ? years
a)  1and2only * Will provide or
augment digital
b) 2 and 3 only communication
3 onl in remote
c) o Village
d) 1,2and 3 Resource A portion of the GSLV-MkIII-D2 being
Centres transported. = pPHOTO: ISRO
Solution: c. The Launcher
i ) = GSLV-MkIII-D2 is the = D2's success will regularise
GSLV Mklliis a three-stage heavy lift launch — second test flight of the the launch vehicle's services
vehicle developed bylSRO. The vehicle has heavy lift vehicle carrying & ease dependence on
two solid strap-ons, a core liquid booster and  the satellite foreign service providers

a cryogenic upper stage. It is designed to

carry 4 ton class of satellites into Geosynchronous Transfer Orbit (GTO) or about 10 tons to Low Earth Orhi

(LEO), which is about twice the caability of GSLV MKk .

GSLV MkKllis a three stage vehicle with four liquid strapons. The second stage is a liquid fueled stage. The

indigenously developed cryogenic Upper Stage (CUS), which is fliglbven, forms the third stage of GSLV Mk
Il.
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(Q) Forty -four years ago today, a group of scientists gathered at the Arecibo Observatory to
attempt humankindds first communication with
minute radio message i the Arecibo messagefi was aimed at a cluster of stars 25,000 light year
away from earth. The Arecibo Observatory is located amidst the tropical forests of

a) Canary Islands

b) Chile

C) Puerto Rico

d) Galépagos Islands
Solution: c.

The Arecibo Observatory is located in Puerto Rico.
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Google Doodle Image sourceBritannica;

(Q) Consider the following pairs:

GSLV Mkill engine/boosters 0 State of matter of fuel
1. S200 d Liquid
2. L110 d Solid
3. Cryogenic Upper Stage d Liquid

Which of the pairs given above is/are correct?
a) 1 only
b) 2 and 3 only
C) 3 only
d) 1,2and 3

www.insightsias.com 19 www.insightsonindia.com
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Solution: c.
Core Stage : L110 Liquid Stage

1 The L110 liquid stage is powered by twoVikas engines designed and developed at the Liquid
Propulsion Systems Centre.

Solid Rocket Boosters : S200
1 GSLV MK Il uses two S200 solid rocket boosters to provide the huge amount of thrust required for lift

off. The S200 was developed at Vikram Sarabhai Space Centre. They use a solid rocket fuel called

hydroxyl-terminated polybutadiene (HTPB) propellant. HTPB is a hard rubbery material that binds
together the fuel and oxidizer.

Cryogenic Upper Stage : C25
 TheC25spoweredbyCE, mh )T AEA8O 1 AOCAOO AOUI CATEA AT Q
Propulsion Systems Centre. The fuel used is Liquid Oxygen and Liquid Hydrogen.

ISRO GSLV MKl In the news: GSAT29 launch.

(Q) Consider the following statements:

1. Launched by the GSLV MkIll, GSAT29 was placed in a geosynchronous transfer orbit
(GSTO).

2. The first operational mission of the GSLV MkIll will be the Chandrayaan -Il'in 2019.

3. GSLV MKIV will be the launch vehicle for the Gaganyaan mission.

4. The spacecraft in the Gaganyaan mission will be placed in a GSTO.

Which of the statements given above is/are correct ?

1 onl .
4 lony 2022: India’s space odyssey
b) ~ 3and4only What is the Human Space Flight Project all about?
c) 1 and 2 only = In 2022, 3 Indian
astronauts, mostly
d) 1,2, 3and4 flight test pilots from
the IAF, will circle
Solution: c. earth for seven days
from a distance of

ET: Prime Minister Narendra Modi had  300-400 km
announced in his Independence Day i s
address thatIndia will attempt to send ™ They will travel

an astronaut to space by 2022 on board M@ %000-kg crew
B ACAT UAAT B8 a2/ capsule AGSLV-MKII

the feat by 2021, with the first 5::::2:::;?0‘::& iz ALSO PROPOSED
O ATURAAWDOI COAT [ A Sher e I = Food. suits A
planned for December 2020. GSLV = The flight will take and other Life command &
MKIII-D2 will be the launch vehicle that ~ ©ff from a refur- tracking cen-
will carry an Indian astronaut to space  bished launchpad at tre at ISTRAC,
(Low Earth Orbit and not GSTO). Sriharikota = Astronaut se-
3 : lection & training

TH: The first successful experimental :ozﬁce::t"reuﬁ;‘:{;a CeE e
flight of the GSLV MkIll was in 2014

: : between ¥7,000 to trials, the first In
when it carried a dummy cew module 9,000 crore two years

as a payload. This proved its capacity in
the atmospheric flight regime. Its first

ET

developmental flight was on June 5, 2017, when it launched GSAT19, weighing 3,136 kg. The present launch

marked the second developmental flight of the Mkill. Witithese two successes, the launcher is declared
Ol bPAOAOET T AI 68 AT A ETET O OEA OATEO 1 &£ OEA x1 OEEI
payloads up to 4 tonnes to the geosynchronous transfer orbit and up to 10 tonnes to a laarth orbit.

Image SourceTH;
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(Q) The Kibble balance, recently in the news, is associated with the accurate measurement of
which one of the following International System of Units ~ ?

a) Kilogram
b) Second
C) Kelvin
d) Ampere

Solution: a.

I Scientists have changed the way the kilogram is defined. Currently, it is defined by the weight of @
platinum-AAOAA ET cir @AAM 1+KB8 O AA ' OAT A + EAO AAAT AO| OF
of measuring weights since 1889. Several close replicas were made and distributed around the globe. But
the master kilogram and its copies were seen to changeever so slightlyz as they deteriorated.

1 In a world where accurate measurement is now critical in many areas, such as in drug development,
nanotechnology and precision engineering those responsible for maintaining the international system
had no option but to move beyond L&rand K to a more robust definition.

T 4EAOA EO A NOAT OEOU OEAO OAI AOGAO x AE ¢radedG@iter tifel |AA
German physicist Max Planck and denoted by the symbol h. But h is an incredibly small number and to
measure it,the research scientist Dr Bryan Kibble built a supeaccurate set of scales, known now as the
Kibble balance. It enables the calculation of h to an accuracy of 0.000001%. This breakthrough has paved
the way for Le Grand K to be deposed.

BG
@QWhat is 6Tokamakd, a term BZometimes seen in [ he
a) A device that enables the use of thorium in place of uranium for power generation.
b) I't i s the worllyautwsomdus robstfarmand f u
C) A new method of space travel that utilises solar salils.
d) A magnetic fusion device.

Solution: d.

1 TheTokamak is a device used in nucleafusion research formagnetic confinement of plasma. It consists
of a complex system of magnetic fields that confine the plasma of reactive charged particles in a holloy,
doughnut-shaped container. The tokamak (an acronym from the Russian words for toroidal magnetic
confinement) was developed in the mid1960s by Soviet plasma physicists. It produces the highest
plasma temperatures, densities, and confinement durations of any confinement device.

1 Plasma, in physics, is an electrically conducting medium in which there are roughly equal numbers o

In the news:BBC
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positively and negatively charged particles, produced when the atoms in a gas become ionized. It |is
sometimes referred to as the fourth state of matter, distinct frm the solid, liquid, and gaseous states. A
plasma may be produced in the laboratory by heating a gas to an extremely high temperature, which
causes such vigorous collisions between its atoms and molecules that electrons are ripped free, yielding
the requisite electrons and ions. A similar process occurs inside stars.
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(Q) The Global Relay of Observatories Watching Transients Happen will focus on three scientific
themes associated with astronomy. This does not include

a) Heliopause

b) Supernovae

C) Near -earth asteroids

d) Gravitational Wave sources
Solution: a.

The GROWTH project will focus on three scientific themes in the field of timedomain astronomy. These are
cosmic explosions (supernovae), small neagarth asteroids and the electromagnetic identification of
gravitational wave sources. We seek answers to the following sciefit questions:

U Where and how are heavy elements synthesised?
U What are the final fates of stars?
U Where are the small nearearth asteroids and what are their orbits?

GROWTHS led by Caltech and has pamnered with thirteen universities and research institutionsz five in the
USA and eight spread across the world in India, Sweden, Taiwan, Japan, Israel, Germany and the UK.

Improvisation: TH;

(Q) Consider the following statements about additive manufacturing:

1. It began as a quick and cheap way of developing prototypes.

2. Changing features of a physical object to be built is a simple software  change that can be
effected quickly.

3. 3D printing is a form of additive manufacturing.

4. 1t is possible to use different substances for layering material, including metal powder,
thermoplastics, glass and even edibles like chocolate.

Which of the statements g iven above is/are correct ?
a) 1,2,3and 4
b) 3 only
C) 2 and 4 only
d) 2,3 and 4 only

Solution: a.
Additive Manufacturing (GEY, ! 1 OET OCE OEA OA®DOb & $b ®IOET GED K16 C pA
discuss additive manufacturing, each process is actually a subset of additive manufacturing. While additive

manufacturing seems new to many, it has actually been around for several decades.

How does AM work?

i Thetei OAAAEOEOA [ AT OZAAOOOET ¢6 OA AdimeAdodalddjectd AnkE T 1

superfine layer at a time. Each successive layer bonds to the preceding layer of melted or partially melted
material. It is possible to use different substances fotayering material, including metal powder,
thermoplastics, ceramics, composites, glass and even edibles like chocolate.

U Objects are digitally defined by computeraided-design (CAD) software that is used to create .stl files that
AOGOAT OEAIT 1 UectiniuliEahtifindlayddsE This ihfériiation guides the path of a nozzle or print
head as it precisely deposits material upon the preceding layer. The journey from .stl file to 3D object
revolutionizing manufacturing. Gone are the intermediary steps, ke the creation of molds or dies, that

cost time and money.
www.insightsias.com 22 www.insightsonindia.com
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TH: In additive manufacturing, changing features or tweaking shapes is a simple software changeetd in

minutes. Retooling of machines is not required and each unit can be customised. By eliminating the need [to

hold a large inventory of parts, set up an assembly line and purchase costly machines, adaptive manufacturing

reduces capital and space reqa OAT AT OO0 AO xAl1l AO OEA AAOAIT T A1

cheap way of developing prototypes, additive manufacturing has now gone mainstream in developed

countries and is beginning to replace traditional manufacturing for many different aplications.

Ot

Q El'ysium Planitia is a f1l at plain in Mars, wh e

positioned. This place is close to the planetdsfs

a) North Pole
b) Equator
C) Temperate latitudes

d) South Pole

Solution: b.
BBC The US space agency Nasa has landed a new robot on Mars after a dramatic seweate plunge to the

OO0O0&FAAA T &£ OEA 2AA 01 AT AO8 4EA )1 3ECrEadd niakelitAhd ony B |

planet z apart from Earth z that has been examined in this way. InSight is now sitting on a vast, flat plain
EITxI AO %l UOEOI 0l Al EOEAN Al 1T OA OI OEA 2AA 01 A
parkinglotol - AOOO 8

@Q@QConsider the following st at esmeencttsr aMi tlhmargeifneg de:

1. It can be used to analyse soil health without requiring physical collection of soil samples

2. HysIS wi | 1 be | SRsalsworkingrsatetlite Withh thik capability.
Which of the statements given above is/are correct ?
a) 1 only
b) 2 only

C) Both 1 and 2
d) Neither 1 nor 2

Solution: c.

From 2017 (TH): Hyperspectral imaging involves analysing extremely detailed images of an objeet
frequently to the scale of nanometres» and then reconstructing its constituent elements. Using custo-

developed algorithms, satelliteimages, or those taken from low flying planes or drones, can be used tp

calculate the proportion of nitrogen, potassium and phosphoroug the three most vital nutrients? as well
as other minerals in the soil and be usedtgauge its health.

From 2017 (TH): Hyperspectral or hyspex imaging is said to be an EO trend that is being experimented

globally. Adding a new dimension to plaiavanilla optical imagers, it can be used for a range of activities from
monitoring the environment, crops, looking for oil and minerals all the way up to military surveillance all
of which need images that show aigh level of differentiation of the object or scene.

In the news (TH): ISRO all set for HysIS launch.
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V.INTERNATIONALRELATIONS AND
ORGANIZATIONS

(Q) In which of the following countries will you find national war memorials for Indian soldiers of
the First World War  ?

1. United Kingdom 2. Belgium 3. France 4. Netherlands

Select the correct answer using the code given belo w:
a) 1, 2 and 3 only
b) 2,3 and 4 only
C) 2 and 3 only
d) 1 and 4 only

Solution: c.

TH: One hundred years after the end of World War |, the immense sacrifice and contributions of well over
million soldiers of undivided India are being incrematally recognised and memorialised the world over. In
France, the centenary celebrations of Armistice Day on November 11 will include the unveiling of the secon
overseas national war memorial for Indian soldiers, by Vice President M. Venkaiah Naidu. Thstfsuch
memorial abroad, formalised in 2002, is the Menin Gate in Ypres, Belgium.

(Q) The Agalega Islands is under the sovereign control of

a) Maldives
b) France
C) Mauritius

d) Seychelles

Solution: c.

Unease over Agalega India’s involvement in the

Agalega project has caused

saint disquiet in Mauritius

James

North
il = The Mo for the
Vingt project was signed in
Cing March 2015 during

Prime Minister
Narendra Modi's visit

Agalega Port Sa;‘?n.te
islands i = |t is to commence
in Feb. 2019 and end

South 501

Island

Mauritius
= India agreed to
_d provide approximately

= The Agalega archipelago consists of $87 million to build

www.insightsias.com

two sparsely populated islands about
965 km north of mainland Mauritius. It
has a population of 300

24

an airport terminal,
extend its runway and
refurbish jetties
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of its project to developthe Assumption Island in the Seychelles earlier this year, New Delhi is moving swiftly

but quietly to ensure its project in the Mauritius? to construct a jetty, rebuild and extend the runway, and
build an airport terminal on the Agalega Island® does notrun into trouble.

(Q) With its present membership, the Regional Comprehensive Economic Partnership comprises

1. Nearly half of the
2. Around a quarter of global GDP.

worl dés popul ation.

Select the correct answer using the code given below:

a) 1 only

b) 2 only

C) Both 1 and 2

d) Neither 1 nor 2
Solution: c.

TH: The RCEP is a proposed trade agreement between the 10 Association of Southeast Asian Nations (ASE
countries and their 9x free trade agreement partners, namely Australia, China, India, Japan, Korea, and N¢

Zealand. The grouping would comprise 25% of global GDP, 30% of global trade, 26% of FDI flows, and 459
the population.

www.insightsias.com

(Q) The top suppliers of crude oil to Indiai nclude
1l.lrag 2. Venezuela 3. Nigeria 4. UAE 5. Russia
Select the correct answer using the code given below:
a) 2,4 and 5 only
b) 1,2,3and 4
C) 1, 2 and 3 only
d) 4 and 5 only
Solution: b.
India’s crude oil imports, Region-wise share (%)
REGION 2013-2014 2014-2015 2015-2016 2016-2017 2017-2018
Middle East 61.25 58 59.73 64.42 63.79
Africa 16 17.42 19,12 14.44 15
South America 16.75 18.21 15.03 12.45 10.27
ET; Improvisation: US grants India sanctions relief for oil imports from Iran.
(Q) Sometimesinthenews, t he ©6Keystone XL Pipelined wildl
a) Canada to USA b) Kazakhstan to China
C) Turkmenistan to India d) None of the above

25 www.insightsonindia.com
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Solution: a.

ALBERTA
CANADA

Hardis E
ty SASKATCHEWAN

MONTANA ., N- DAK

s, DA

NEBRASKA".
USA Steele City'
KANSA

ILLINOIS
—0 Patoka

MISSOUR!I
Cushing
OKLAHOMA

TEXAS

Vouston: Port Arthur

- Current pipeline

== Proposed pipeline Source: TransCanada

BBC TheKeystone XL Pipeline is a planned 1,897km pipeline running from the oil sands of Alberta, Canada
to Steele City, Nebraska, where it would join an existing pipe. It could carry 830@0arrels of oil each day. It
would mirror an operational pipe, also called Keystone, but would take a more direct route, boosting the flow
of oil from Canada.

(Q) In what way(s) will India joining as member of Advanced Motor Fuels Technology
Collaboratio n Programme of the International Energy Agency benefit the country?

1. Reduction of energy import bill by at least 10% by 2022.
2. Deployment of advanced biofuels in transport sector in near future.
3. Avoidance of duplication of research and development efforts am ong member countries.

Select the correct answer using the code given below:
a) 1 only
b) 2 and 3 only
C) 1 and 3 only
d) 1,2and 3

Solution: d.
All statements are correct.

PIB: The primary goal of joining AMF TCP by Ministry of Petroleum & Natural Gas (MoP&NG) is to facilita
the market introduction of Advanced motor fuels/ Alternate fuels with an aim tabring down emissions and
achieve higher fuel efficiency in transport sector.

4EA 20%$ xT OE ET '!-& 4#0 EO AAOOEAA 100 xEOEET EI
50 Annexes have been initiated in AMF TCP and a number of fuels haeerbcovered in previous Annexes
such as reformulatedfuels (gasoline & diesel), biofuels (ethanol, biodiesel etc.), synthetic fuels (methano
Fischer Tropsch, DME etc.) and gaseous fuels.
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(Q) Which one of the following events led eventually to the form  ation of what today is sometimes
referred to as the 6Quadd grouping

a) Establishment of Chinads first overseas nayv
b) Rejection by China of the Permanent Court o
c) Chinads announcement ofadidots noOneatBelt, One
d) The 2004 tsunami

Solution: d.
THg O8 AAOPEOA OEA bi OA1T OEAT A O AT i PAOAGEITh O
mission. In2007, when the grouping was first formed following cooperation after the 2004 tsunami, the idea

xAO O AAOOAO AT 1T OAET AOA |1 AOEOEI A AAPAAEI EOEAO ¢
For additional reading:Insights;

(Q) Since the beginning of commercial oil extraction, which one of the following countries has held
pricing power over oil for the longest period ?

a) Russia

b) Saudi Arabia

C) USA

d) Venezuela
Solution: c.

Investopedia: Since the 1860s, until the middle of the 20th century, the United States was the largest produce
of all and controlled oil prices.. American reliance on imported oil began during the Vietham war and the
economic boom period of the 1950s and 1960s. In turn, this provided Arab countries and OPEC (which hg
been formed in 1960 to counter the hegemony of Westn oil companies) with increased leverage to influence
I El DPOEAAO8 4EA pwxo T EI OEI AE OxOi ¢ OEA pPAT AOI
Israel during the Yom Kippur War, OPEC and Iran stopped oil supplies to the United Stald® crisis had far
reaching effects on oil prices. They have remained at high levels since.

Improvisation: TH;

(Q) Which one of the following countries is a NA  TO member ?

a) Switzerland

b) Austria

C) Sweden

d) Turkey
Solution: d.

Switzerland, Austria, Sweden, Bosnia and Herzegovina, Serbia, Macedonia, Belarus, Ukraine and Moldova,
not members of NATO.

Map: NATO Members and Partners NATO frequently in the newsTH1; TH2;
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(Q) Which of the following countries participate in the East Asia Summit as members but are not
participants in the Regional Comprehensive Economic Partnership negotiations?

a) China, Russia and Japan only b) South Korea and New Zealand only
C) USA and Russia only d) Papua New Guinea and Sri Lanka
Solution: c.
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